EWMEMRTOIREOKEEYISHITIEREANTERAEILEREYE
(HF3EE)

T8 ERFRT = B =
£E | #EHFR EHEFETOTRAMELSHEAFHERBE0L/EF)
IRz | & SWESH e 24 E 3 A 56
1 s JrhI—hk TR Jz=haFt HELEYHRR kTS
27,459,896,264 14,207,180,000 4,009,500,000 3,209,233,500 1,249,920,000 574,190,400
2 EHE JIvhI—k TR Ax U i=l=l=£71)0% FIIL
25,821,289,657 7,707,260,000 4,641,750,000 4,228,092,000 2,772,309,700 1,534,790,000
20 | mxE TR Jr=hEFAY JzvhI—h AH U B Ak
3,476,537,721 1,118,250,000 557,865,000 365,700,000 231,498,000 218,678,650
18 | =mE Vi=1=1=7 > TR Jz=haFAY [NUE/ =Pl 7 JzvhI—h
4,067,461,432 1,460,940,300 690,750,000 685,355,000 228,000,000 166,420,000
25 | mmE TR JrbI—hk Jr=pAFAY Ax U FIIL
2,601,381,341 596,250,000 554,380,000 411,510,000 159,354,000 158,240,000
17 Wi B Ax UM Jr=hAFAY TR FISL JzvbI—h
|7 71~
4,606,849,283 1,019,196,000 994,400,000 621,000,000 388,148,000 382,660,000
u | EEE Jr=hAFAY TR AH U JzvhI—h F 5L
2,787,451,610 680,845,000 353,250,000 291,276,000 193,980,000 175,858,000
3 Fia TR i=1=1=7 ) Jz=hEFAY JEILEYRR JzohI—h
22,643,923,440 9,677,250,000 4,881,760,300 1,739,992,100 1,500,840,000 1,253,980,000
15 | AR TR Jr=hEFAY i=1=1=7 ) [NUE/ =Pl 7 JzvhI—h
4,983,749,957 1,199,250,000 895,915,900 745,217,200 348,000,000 339,200,000
5 BmER i=1=1=7 ) Jr=hbaFAY TR JzvhI—h B Ak
12,766,233,563 4,530,875,500 2,203,381,400 2,054,250,000 913,720,000 663,514,700
7 EEE FIILRYY Jr=haFAY ri=1=1<£71) % [NE=Y %) 5 S Ay
8,662,174,444 2,765,250,000 2,332,493,900 870,176,250 456,000,000 438,254,750
4 FER TR i==[=£71)0 Jz=haFAY JEILEYRR JzvhI—h
16,705,101,702 10,118,250,000 1,977,057,550 927,588,200 660,480,000 437,780,000
30 | == S ] i==[=£71)0 TR ryoRILRY Jr=hAFAY
1,867,153,347 520,560,000 424,549,250 330,750,000 276,000,000 128,266,600
23 | mz)8 TR Jr=hEFAY BALT7SIY JzvhI—h AF U
N 7~
2,897,294,069 2,011,500,000 283,589,900 87,534,000 79,500,000 69,552,000
2 | wmEe Jr=hbaFAY TR i==1=£71)0 AF UM r)oBEILRY
3,355,168,267 872,319,800 531,000,000 316,950,950 195,480,000 192,000,000
32 | ZLe Jr=hAFAY TR JzvhI—h [NUE/ =Pl 7 KV
==} 7~
1,858,166,490 831,165,500 288,000,000 100,700,000 96,000,000 95,719,000
36 | BNE TR Jr=hEFAY BALT7SIY [NUE/ =Pl 7 Ax U
1,579,878,471 535,500,000 391,765,000 96,066,000 96,000,000 83,484,000
45 | =HE Jr=hAFAY TR AH U MITILS)Y i=1=1=, I
413,750,153 162,910,000 81,000,000 18,090,000 17,378,400 15,676,300
28 MEN:! Jr=hAFAY Fo5L Ha)LEYRR AHx UM )Ry
2,192,160,414 808,390,000 202,860,000 189,000,000 145,422,000 144,000,000
9 EmE i=1=1=7 ) Jr=hbEFAY AH U JzvhI—h TN
7,287,250,886 1,311,112,750 1,291,400,000 916,920,000 726,100,000 488,250,000
2% | ikEE TR i==[=£71)0 Jz=haFAY [D2=P1%; B Ay
2,388,284,615 787,500,000 401,483,200 268,620,000 192,000,000 155,258,850
10 | smEE STIIUFHAY FIILRYY Jr=hAFAY i=l=l=£71I0% S Ay
7,234,552,777 2,293,500,000 1,788,750,000 912,890,000 469,642,950 385,006,050
1| Bae Jr=hEFAY TR JzohI—h Vi=1=1=, ) BLT7SIY
6,659,478,247 1,708,147,100 1,057,500,000 920,080,000 609,101,250 318,546,000
2 | ==8 Jr=hEFAY STITIUFYOY TR BALT7SIY i=1=1=, I
2,159,987,377 500,628,700 429,000,000 231,750,000 226,638,000 200,927,450
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a1 | e Jr=hAFAY TR AHUH FISL JzohI—h
1,069,884,577 332,017,400 173,250,000 106,596,000 77,280,000 65,720,000
43 | == JI=hAFAY TR YRR KoV S Ay
530,656,345 231,785,400 110,250,000 36,000,000 20,905,000 17,949,000
34 | KBRAF 7z=tRFA LN sEAE YL JrobI—k FINRYL
1,592,769,207 679,242,300 216,000,000 141,945,150 133,560,000 121,500,000
31 | EEE TR Jr=hEFAY JzvhI—h AH U B Ak
1,862,888,569 490,500,000 463,546,600 244,860,000 99,090,000 70,001,100
1| =pe Jr=hAFAY TR RYISHhNT AFEFFY B Ak
464,559,557 131,516,000 90,000,000 45,033,000 33,792,000 26,624,350
21 |FngmiLne JIvkI—k Jr=hOFFY T AFEFFY Ha)LEYHRR
3,460,281,196 995,340,000 718,080,000 303,750,000 290,180,000 180,000,000
37 EmE Jz=hOFHY TR AFx UM B Ay j=1sl=t/ 7
1,474,078,230 580,767,000 218,250,000 173,880,000 104,403,350 65,572,600
47 | ame Jr=hEFAY TR JzvhI—h i=1=17 ) B Ak
314,475,735 72,545,000 67,500,000 28,620,000 26,538,200 20,342,200
39 | @LE Jr=hAFAY [IE2=Pl%; TR JzvhI—h BLT7SIY
1,204,230,614 381,528,400 144,000,000 126,000,000 90,100,000 73,413,000
16 | EEE Jr=hAFAY JrhI—bk BALT7SIY TR B Ak
4,948,932,880 1,581,751,600 979,440,000 558,387,000 452,250,000 222,866,750
46 o FIILRYY Jr=hOFFY Ax U i=l=l=£71)0% JrvbT—h
368,461,647 114,750,000 59,532,000 33,750,000 32,933,800 26,500,000
27 | meE i==[=£71)0 TR JzvhI—b B Ay BATSI
2,277,472,620 1,275,181,750 411,750,000 106,000,000 100,813,550 99,090,000
0 | Ene Jr=hEFAY TR i=1=1=7 ) JzohI—hk AF U
1,082,539,525 394,735,000 128,250,000 100,589,100 79,500,000 67,500,000
2 | BEe Jr=hAFAY <z atd [IEr2=Pl%; JzvhI—h HELEYRR
1,031,291,063 195,833,000 137,605,600 120,000,000 100,700,000 70,080,000
19 | Zam= Vi=1=1=7 > TR B Ak Jz=haFAY JzvhI—h
3,716,104,739 1,467,141,200 954,000,000 755,652,900 124,861,000 54,060,000
13 | =EE JI=hAFAY FIILRYY JzvhI—b i=l=l=£71)0% b eV
5,787,348,782 1,321,339,800 1,118,250,000 787,580,000 341,005,250 337,770,000
33 | Eme JIkI—k FIILRYY Jr=hAFAY i=l=l=£71)0% b eV
1,758,176,634 477,000,000 391,500,000 200,772,000 126,802,800 102,492,000
14 | BBE i=l=l=£71V0% FIILRYY JzvhI—b B Ay Ax U
5,428,168,164 2,328,691,650 1,638,000,000 530,000,000 189,062,800 127,872,000
6 B R JIkI—k TR ri=1=1=5/1)p Jr=hAFAY S Ay
10,294,579,025 4,235,759,999 1,833,750,000 1,314,835,650 589,765,000 517,529,500
38 | xpE i==[=£71)D FIILRYY JrohI—h Jr=rAFAY S Ay
1,251,354,513 459,312,050 148,500,000 134,620,000 116,204,000 104,104,200
12 | =B TR i=1=1=5/1)p JrohI—h Jr=hAFAY S Ay
5,893,205,646 2,193,750,000 1,138,570,200 903,120,000 505,879,000 266,841,800
s |ErEE i==[=£71)0 FIILRYY Jr=hAFAY S Ay SFIILFHAY
8,404,259,176 2,523,949,200 2,495,250,000 958,980,000 540,564,050 379,500,000
35 | shi@E Jr=hEFAY TJrhI—bk RYISHhNT TR KV
1,580,278,401 512,178,700 223,660,000 200,175,000 112,500,000 69,930,000
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